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[m/s] [m/s] [C] [C] [C] [%) [%) [%) [%) [hPa] | [hPa] | [mm] [1mm] [mm]

01 0.8 it 4.7| Jbdkra 15.8 20.3 10.5 74.8 94.4 54,7 72.21 1021.8] 1024.3 0.0 0.0 0.0 I [ 38
02 1.6| dtdtva 12.5| Jkdb® 15.7 16.9 14.5 95.4 98.0 83.0 79.1( 1011.0| 1013.5 2.0 7.5 29.5 55l [§E] =
03 2.0 ik 15.1 Jkdres 17.9 22.4 12.8 58.1 88.3 33.0 72.8| 1016.4| 1018.9 0.0 0.0 0.0 = i i
04 1.3| dtdtva 8.5| FAFATE 15.8 23.4 9.8 71.2 89.7 49.9 72.2( 1017.7| 1020.2 0.0 0.0 0.0 i i i
05 1.8 it 8.4 FEHE 16.0 20.0 11.8 71.4 95.8 50.8 71.9| 1014.2] 1016.7 0.0 0.0 0.0 iR i =
06 1.4| dbdt= 12.0 it 13.5 15.2 10.5 2.7 90.8 62.5 72.1( 1013.6| 1016.1 0.0 0.0 0.0 & = i
07 5.6 Jtikra 16.1| Jkdres 12.4 15.7 9.7 51.6 91.3 33.3 65.9( 1020.4| 1023.0 0.0 0.0 0.0 i i i
08 1.8| FMEHE 14.4 B i 11.5 16.5 6.9 53.9 82.7 34.9 62.2( 1026.4| 1029.0 0.0 0.0 0.0 i i i
09 1.4 it 5.8 HILHE 11.3 17.4 5.1 62.3 83.6 33.8 62.2| 1026.8| 1029.4 0.0 0.0 0.0 i i i
10 1.4| Jkdkvs 5.4| JkdkvE 12.6 16.1 9.3 69.2 96.9 53.3 64.2( 1023.4| 1026.0 0.0 0.0 0.0 & £ =
11 1.0| dtdtva 10.0| Jkdbts 16.8 23.1 13.0 7.7 96.9 49.4 68.2| 1013.9| 1016.4 0.0 0.0 0.0 = i i
12 1.0| dtdtvs 6.6| MFA®E 15.7 21.3 9.9 72.2 90.5 49.4 69.4( 1013.3| 1015.9 0.0 0.0 0.0 i i i
13 1.8| FMHE 12.3| FMHE 16.1 20.8 11.9 64.3 89.9 41.1 67.8| 1017.4| 1019.9 0.0 0.0 0.0 i 5 i
14 0.9 Jt 5.5| dtde=E 15.9 18.9 11.6 62.8 80.2 53.0 66.2( 1021.5| 1024.0 0.0 0.0 0.0 i = =
15 0.9 it 5.7 ks 15.5 17.7 13.0 89.5 97.2 75.8 73.1| 1016.8] 1019.3 1.5 5.0 8.5 [§i] = &
16 1.4| dtdtvE 5.1 Jt 15.3 18.2 12.2 84.2 97.2 65.2 76.4| 1019.8| 1022.3 0.0 0.0 0.0 = £ &
17 1.6| dtdtvs 19.3 B o] 18.8 24.0 14.6 75.6 91.6 53.8 76.1( 1011.3] 1013.8 0.0 0.0 0.0 = & &
18 4.2 Jdkdkda 14.9 B o] 13.8 18.0 8.8 53.0 79.1 33.3 69.1( 1013.9| 1016.4 0.0 0.0 0.0 = i i
19 3.4| Jkdbvs 15.1| dtdk7a 9.3 13.1 6.1 47.0 69.7 35.2 62.4| 1024.0| 1026.6 0.0 0.0 0.0 i i i
20 1.6| JbdtvE 5.3| dtdkra 6.6 8.1 4.8 79.3 96.3 65.5 67.4( 1021.5| 1024.1 0.5 0.5 1.5 = = 5]
21 1.2 it 5.3| dtdkra 10.7 14.5 8.1 91.1 97.2 7.4 74.5| 1012.7| 1015.3 0.5 1.0 1.5 = & i
22 0.9 it 13.0 B o] 11.9 18.8 5.5 70.7 95.5 43.3 73.3| 1009.9| 1012.5 0.0 0.0 0.0 i i i
23 3.8| dtdtra 16.9| JkdtvE 11.2 15.1 7.3 47.6 66.3 33.8 65.5| 1015.3| 1017.9 0.0 0.0 0.0 i i i
24 1.9 Jbdts 10.0 B o] 10.0 15.3 5.7 55.1 73.6 35.8 62.3| 1021.8| 1024.4 0.0 0.0 0.0 i i i
25 1.4 dt 12.6 JbE 9.3 14.8 5.0 56.7 78.0 35.2 60.5| 1026.7| 1029.3 0.0 0.0 0.0 i b5 i~
26 1.2| dtdtvE 11.5 B o] 8.1 12.9 2.7 73.0 96.6 51.6 64.2( 1021.6| 1024.2 1.0 3D 5.5 i = [55)
27 1.4| Jkdkva 13.1| WEH 14.1 20.4 8.8 85.1 97.4 60.8 70.4| 1003.8] 1006.3 2.0 8.5 10.0 5 iR s
28 1.3| Jkdtvs 9.1 dtdkvE 11.9 17.3 7.6 56.6 96.3 24.9 66.3| 1003.0| 1005.6 0.0 0.0 0.0 i i i~
29 1.4| Jtdtvs 12.6| Jkdtvs 9.4 15.8 2.7 51.6 77.2 29.4 61.8| 1000.0| 1002.5 0.0 0.0 0.0 = iR s
30 1.0| vadkvE 5.8| dtJkra 9.1 16.0 1.9 56.8 87.4 27.2 60.3| 1002.0| 1004.6 0.0 0.0 0.0 i i i~

51E 1.7| dtdtva 13.1 67.7 68.3| 1016.1| 1018.6

%=l 10.4| dtdtva 19.3 Jkva 24.0 98.0 79.1( 1028.9| 1031.5 2.0 8.5 29.5

ECHF 11/23 11/17 11/17 11/02 11/25| 11/25| 11/27| 11/27

06:39 23:47 14:46 16:21 21:57| 21:57| 00:20] 01:00
IE(E 1.9 24.9 60.3| 996.6| 999.1
ECHF 11/30 11/28 11/29| 11/29
05:43 14:36 12:40]| 12:40
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